W=15340 [Y=3653349,90 d W=152,80 | Y=3653372,88
| Rz=152,13 |X=5618001,38 o N[ Reststgs [ x=561799999 |
,,,\ /
| \ f
\ | /
| | N MN W=152,70 [ Y=3653386,77
\ R215096 | X=5617992,50
S Tl |
Sy/8 T /
FL.\I: w, — \;
e ] I E—— ,
T PEHp 208 ]
w%% S S| —
IN%,QNQ ac ...\.I_J hm: S — ,,,,,,
.0y <75 5
2: =18 055 \mwmo /////
- /////
PEHD-py :
S zw% =51.5-.
I~ 156,029
T m “—W=152,70 | Y=3653384,40
NM Rz=15097 |¥=5617992,13
NM@ W=153,00 | Y=365337191
Rz=151,20 | X=5617994,87
N wo W=15340 |Y=3653349,55
N Re=151,61 |X=5617999,78
" _
I
l
l
—_—
l
l
I
l
l

> 000

P
thp 04/200
~35 >

/
(ACZY Em.% 7.

l
/ I |
I D
I
—— A
— L T
—— = =
— S 9 Ll
-~ = D =
(&) E - = =
= o= = O m
0o = N oo N (o
= < O oS O Lo —
N I = = = ~—
o & >= o w —
[ o ) > >
< =4 358F 53 T
D Ll = S 0O A Rm ——
= = R S S|
2 ST == e
— 1
A | o
T o
NM@ W=15225 | Y=3653437,10 | “ __
Re=150,65 |X=5617981,88 - _ | __ ]
[} i
\
[
J
\
/
[
\
5 | NM u W=150,75__ | Y=3653565,44
&) ) 575 / R1=150,27 |X=5617955,64
L ETap
ST HN T o s
Rz=150,35 | X=5617956,98
oy -,
=3 0575205+
>
S
Y=3653493,00]  W=151,85 NM (nv T YUY =5,0% ,m — ~ ..
X=5617969,69| Rz=150,30 LT = nm:usg,\/wg/ - 21
= ZTa— S
L i ‘HNQ.QNO NN@I Hrﬂ{/\/MW S5
L e i
Wi A
Y=3653542,41]  W=151,70 NM A o SIS
X=5617959,00| Rz=150,15 = A
Y=365356591]  W=151,80 NMM %
X=5617955,54| Rz=150,27 N D b
Y=3653593,22  W=151,00 NM_ \.,,&.Qw_w
X=5617949.92| Rz=150,55
Y=3653503,66] W=152,05 N,_m
X=5617940,88| Rz=150,66
l
l
l
l
— [39]
l
l
l
7
\ ~
S
/ 4/
S
.wO%
|~
s /
\ S o
(]
oy
/[
/
/
\ ‘\\
\ \\\
;\
/
\ \\
/
/
\ - /
N_NM W=150,00" /| Y=3653550,47
~ L7 Re=148307/ | %=5617828,61
) —
A
/
\ ﬁ\n% NI
7
\ N_N_ W=150,00 | Y=3653556,09
/3] . Rz=148,30 | X£5617827,10
\ -/\ ;
& f< NAN W=150,00 | Y=3653553,75
%\ Rz=148,29 / | %=5617820,97
/
S
Y=3653544,49] W=149,90 NA@ N \
X=5617797,63] Re=148,27 &/ PN
/
/
\
\ \
\
\
/
/
\
\ \
/
/
/
\ \\
/
\
\ \
/
/
\\
/ 793 </ /
WDQIO\
IS WOM\
S/
DW \\\
S/
NG /
&
\
/
\ Y=3653520,49]  W=149,70 N_@
X=5617736,61| Rz=148,20
/ po\
s
S
Y
S
(N)
T
/ §
Y=3653511,01]  W=149,55 Nd u /
\ X=5617712,48| Rz=148,18 ) \
S~ /
S S
~ /
\ / Nfﬂa W=T49.60 | Y=3653512,26
Ri=14818 | X£5617715,61
N
S
=}
</
Sy
D
=
// \
N_M WE149.35" [Y=3653501,32
Re=148,15 |X£5617687,62
\\
\ \
\\
<
<

~ AN
gy o =
M s8] N
a =1 =1 i = 3 A
3
~ o =
0 o =4 ~N
~ N E
%) ~ =
o g B
o ~ L |
” ~ ] O =
o0 ~ = a-
=™ e R = |,
ITEI| B,
=] o : <C
P = 5| =|E
= = m W _
|| = a
D
1z B
=2 I
I <C m
S| 2| 2= &
g |g=< = =3 o=
cE |2 E = = ]
sz 2| Hlazege =
g5 18w x [F S =
& & a |3 =
= ! =
— [
5 > |EE| g
£ 128 =
2| 5| 825 &
= a5 = | ! ]
S o~ = 5| 2
E|l | 2IEE N
= =2 x |8 = =
@ = s =< p=
. L) < |m™&» [
N |28 = |2 S S
= |22 = B2 2
= = L O | a v O
£8 |8 |2 5 =
E=15=|t 8 2
NM.— ,_ W=152,00 | |Y=3653593,49
A RzE150,61) |X=561795099
NMO [ W=152,00." |Y=3653595,75
| [Rz=150,58 | X=5617949,40
[
OGT\ ._ W=152,05 | Y=3653595,56
|+ Rz=150,62  |X=5617940,24
/ Re=150,12
ARGy /
/N._A\ m W=152,00 |Y=3653601,24
Rz=150,50  |X=5617938,35




